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Short Answer

10.

11.

12

13.

14.

15.

16.

17.

18.

Combine like terms.
8a+10—a-6
8z+10-7z—-4
6a+8t+2a—4t+5
Ta+9t+2a—-2t-6
Simplify 4(9a +2) - 2a.
Simplify 6(4x + 4) + x.

Simplify 9(5a~ 5) - 5a.

Solve n— 9 = 82. Check your answer.

Solve s — 4 = 45. Check your answer.

Solve 12n =48.

Solve 3m = 45.
n

Solve 3 =41.
Ky

Solve 5= 10.

Solve 6y +7=49.
Solve = —7=20.

Solve 57 + 21 = 49.
Solve 10y — 2y =40.

Solve 8x — 5x = 30.
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21

28.

29.

30.

Solve.
v-(-13)=4
x+(-19)=20
-25+s5s=-19
—-6+s=21
—2a=16
—4a=-40

=12

o
4

Solve the following equation.

y-155=5.1

Solve the following equation.

7.3p =—65.7

Solve the following equation.

- =156

178

Solve the following equation.

Solve the following equation.

31
5 4

Solve the following equation.

5 6

8 13
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Solve the following equation.

1_ 1
x 2 15

Solve the following equation.
2

=2
Solve 4(3x +5) =44

Solve 4(2x +3) —3x =47.
Solve 4(6x —3) = 5(4x + 6) + 2.

Solve 4(3x —9) + 3x = 5(2x +3) + 2x



